2 HH 4

3

e
o

¢F 10d 33

Klo

o

el o

=
L

o124
= o

=
S

Qol
=

ol

= SF0AM A 8 At

ol
=

24

2l
=

Fa1, Ofz2f

.
(@]

1240| 20194 12
= Mot

=

=

-
O:

o4, 3= ©@Eel dut

-
o

20 =4 A 7|9,
W E

=

=

12|

oju
mr
%l

e

10

K
Klo

Ul

<d

1o

<0

of
ar

ol

o]
[Ho
i

Al

Kk

ol
oF

un
41
|
o

mr
ol

Ul

CH =& R

=3
=

7] Qe SR 2 2011 & 3 IYEHALRF(TCY)

-
o

X
(A

KIr
Ol

o
ojnu

mr
7l

het

(=]

2 S7tot L}
v
o

to

o

A
7bot ALt 3 =

ALt OfA|OtQ

=<

=)

HEE2 17%0 A 24% 2
M =t LHSHAH M= HALK O

—

1999 H 1,300 A4=0|A 2018 & 7,200 = O

L

L

=KX Ar=|0f A2
a1 9

—

—

¥

7
e

=

0

1

Ofsfiet ofzy

FRACE 3 =7t W=
HMA GDP oA 3 =0[ XiX[5}

=ke}

|
B

M
=

227t XY o

27tel

1ol
Kto

Al
o<

ol
=

KO

ol

—
—

i LE2t

-+
[e]

= gzt

=

4 24

=

-
O:

off Lt7k7] f8ll 3= == S OEf =7tk

ol S

7
gds Hof 7ta ULk 2t

F

-
o
—

Ho

Ufru
od

=
S

A0

2+
=

Ab A of

3

t5| 0|0l A THolEl ZEo| QAo wat XL wEs) Lt

A
oo

2018 & 3 =

| -

—

2|

o
A0lL}. 2= 3 =

H, ?

-
o

—

3

EL

!

0
ofn
mr
Bl

=
—

424
2

o
e

3=y

—

.
o

oM 3 =

b

el
il

2l
&S] Lt7Hof

_|

VS
A

X 2F
==

LiZb2] 2l F71Hola o

2 =0

el

=
=

=
[

otofl OEt w2t TtEH S| &0 ZH2H WZ[ot=

Ui Ci=het

E
=



2= 3 = dd=eet 3 = 2

o
e

1o0J
mr
Bl

1o
ok

ol
~d
Klo

mr
Bl

golf Lt7H2] lof

o1
]
Ol

=

=

?let 3858 217

_l|_
1
<0
od

M|

2]
70

—

i

NEEREON

=
=

-
O
[=]

3 IPANZ 20| K|

[
KI

300

oM, Fel=

3

—

e

Ct. 22|= oh=ef S50t0AQ|
o

S xtolsict o

~
O

ofgifet Melolet=

'2018

7 A7t 552

LtZ Z0|C},

od
Jo!

ojru

M|
[
KI

100

-
10

4
Kd

Jo!

F

|__L
S e

f

7

M7 ti=ts Sl

¢ HA &2

b=

_l

—
=

=

S
[
o

"
=
7|

<2le
of Ltz ZO|tt. O

L

2H 27|79

™M (RCEP)

—
—

[
=

FX}

—

|12 20, 2
=

H

(=)
O[C}.
NS

5

2 7|
.I
<F2

IS
(]

.1

dF
=
q

L=

FCt. RCEP

e
o
—

—

=
il

Ch. MZ9
O

o
"
&

.
[}

XX
222 XXE |
I

sg 7

F

k=]
D~
[}
—
(o] £
=1

1=

O A|HZ] 2utE UES

15 3 =

=
2019

2| =

o
e

ArEd, S8otH, HA
of LtEfE 22[2

29t 70 T

o

—

A0|Ct.

3

@)

o
8708 CRARFAAA 2] ST

Ch 22l MZ22

ofn, =22 X0 ECt

1ol
KO
i
or
mr
Bl

=
[

Xl
—

Kir
oln

o
oF

a1, A MA=E 2 A

10

=

EFA
[

oju

ol
oK
o4

mr
Bl

QA7 G20 %

L

—

2|

o
e



Z0|Lt.

(o]
=

I LEZHEA, Y E &

L
(o]

= 4%t

2
=

G20 M| A| SHO|A HLCf

o

—

3=

Ui

oju

or

= OFof

=8 =28 Mo tHSst7| flsi 3=

23l= X/0tol

A
(s

e S

CIxg 84 A

—

—

A0|Lt. 22

mr
Bl

o<

O[LIME[E  CiXt2HCMIM)2f

Z0|Et.

Z0|Ct.

3

joll
101

}

g

ol
mr
ol

OfM[2F+3 HHA| B M Z=ALZ|THAMRO)2|

olmalyt |

—

—

S80It 22

|

s

o

i HE 2

48

3|

8

J4

10

Ko

RN

A
1

o1

Ar
|

o

Af, MBS ZEE HLE el 2

ull

—_

Mm_
jo0
IH
ol

N2

=
o

2030 X|&7t

22|9)

\%R

LY

| -

(=}

10| Z[Hje] 228 EHO[H, X[H7t

= HI d=iof Lz ZA0|Ch

=5
=

%l

ofnu

7l

7l

X0
ol
<{H

4

oF

!

Fol= oY S22 H H7[=, 7|2

El
10
of

oju

-,

Joll
K
Kir

|

KIr

o &30 ek AH

1L

—

=)

{7}

.
O
—

Al
=

—

—

'2015-2030 A @z MCtol
22

b

—

-
[}

A0|L}. RE&= =
detol LkZ Z0|Ct,

—

jod
ol
oI

|

ol

jod

~O

Ol

0
oF

o
HEZ

2%

F2l= SO0tAote]

Bl

!

oju

2017+ o|sfet

M|

=

= Op3s| L& ZO|Ct.

7|k
Al

3= @Ho #olet F= =ost, MZ2

| -

—

2|

o
. T

A7 Ltz ZAO]Lf.

2

[ |



otH, 3 = ©Ho §H= oEt I7tet XY= =) Lz ZAO|Ct

OEf =7tte]
O ZM Trilateral+X

FEl=

oju

3

-
o
[

x
T



